§ i

)ET %u/\&

FERMEE - R EGEAE - R SWN
RERAERSEEAT DWW BT FUL TR EXEEER




a1
woE

AAVRAER, ., EZABNRE Tix K%,

$%%%§#ﬁ%ﬂﬁ&m%£r%%ﬁ$&iﬁﬁﬁ
L, AMpaddoamL, RE KE, RAKE, t¥
Ao d) FA) KARKME, CFME. RE, Fad. ik
R, BAEREERENE, LRBARNRUSH, ST
B, ARESL, B, L E, R, BXFSALLHT
B, BT EMHRRAMMGLE, —BHHELE, Kiair
BE, IALLMRE, SHFLRERS EHR, ETR
AR, HLAEH, RELRENFEARPANES
HA, RAENRM, g, SHEFE KBMAF, £A,
BAER, 4648, RRFE, DETH, LEAT, b4
B, RBAKGF, NI EREBRERLLE~NFLKNE
P 25 AR BRI, R — ARAT 69 R iE A B,

ERIE EFE PE S Y Py Y e . Ll
AMEREAT GHEH R, S FORFER, #it
HTREOPWME, NARERES £, £FTHE, &
BoERHOLE AR, REHKE, M SRR S G
FEEMYELENRD, wHTHFE, PUBA B L
. RENRERFRHGSMAL, Ao EERTAND
WAL, & EO KR AR R AR L, L,
ERAME TR E RO ELPIE, it TG skt



W7UBBT, RBEFERAN RBwF B S 0E R &4
By, SRMZEMEAEL, Shiz&s 3844, K,
2, FARESHEOAF, RENGEERE, B K&
W AT, AR S AT,
HFREANFEFHEE, BNTAHAB LR T HAKS
HiEAEAR, ABEMAZEERALNL LS~ AGEK
H, AR E AR AT TR,
ABTHXFRBEAALRRLINE, AEFTLAF
iAo BARBIZA, LTHRARATFIREZA,
AL TERELHR, BRLBETF—, =, @,
E., T&, XRFBETEZ, 5. &, A, E. FIT,
IR AL Ao BB E KT MR,
 AABBRERAY, ARHPAEMAFETREASE
& # 4 Richard L. Laﬁigan WX FET RS, LXATE
#, _ o
AMNA LR B A ABRG S X B34 R i k£ A 9
B, FBIERGERARFREGH, :

% &
1993 4£ 11 HFXE



- - Contents

Part On_e “Tests

College English Test 1 (Band Six) . o veoeeene ]
. College English Test 2 (Band Six) --------s-sooo=+ev) 18
College English Test 3 (Band Six) == 36
. College English Test 4 (Band Six) - veor 53
College English Test 5 (Band Six) - sooreeeveeees 70
College English Test 6 (Band Six) -+ --=- 9]
College English Test 7 (Band Six) v s+ e eeeee 110
College English Test 8 (Band Six) «wrvoeeereeeee 127
- College English Test 9 (Band Six) =+« oevereeeeee 146
- College English Test 10 (Band Six) = veewereeeees 164 .
1989 4 6 A LEIGEARGEAM e 183
1991 4 6 I SEBHEARESE - 203

1993 4 6 A L EIEARL L e 222

Part Two Concise Explanations



TCStZ ars asa ass man v

Test 5 «ovvee e

Test 6 e hes eeeen ees ret reeaen ree ansaen bes onn TETINIT

TSt T ereeeeeee e eennenes

Test9 -

: - 246
TCSt 3 [T R AR LR R LR L LR

252
258

263
,269

e 275
TSt B cvrvvrver o son it i e e s s e s

Test (1993,6) WerEas mEE neE EEE e B AN Ree Hes tee aay Hue auE

Part Three

Model Essays for Writing i s

Scripts for Listening Comprehension

ooooooooo

Aﬂswer Key T emw bws swaomss ces hes mkn v vee nee men wan e

281

. Ceremenn . - 28?
Test (1989,6)

292
299
305
311

- 317

323
366



Part One Tests

College English Test 1
—— Band Six —

Part I Listening Comprehension (20 minutes)

Section A
Directions: /n this section you will hear 10 short Conversations. At the
end of each conversation, a question will be asked about what was said.
Each conversation and question will be spoken only once. After each
question there will be a pause. During the pause, you must read the
Sour suggested answers marked A, B, C and D, and decide which is the
best answer. Then mark the corresponding letter on the Answer Sheet
with a single line through the centre.
Example: You will hear:

You will read: A. 2 hours. C. 4 hours.

_ B. 3 hours. - D. 5hours.

From the conversation we know that the two are ra_Ik:'ng about
some work they will start at 9 o'clock in the morning and have to finish
at 2 in the afternoon. Therefore, D "5 hours” is the correct answer.
You should choose answer [ D] on the Answer Sheet and mark it with a
single line through the centre. '

Sample Answer [A] [B] [C] BB}

1. A. A new restaurant. C. A new hospital.
B. A new hotel. D. A new atrport.
2. A. Take four pills. C. Take the doctor’s advice.
B. Hesitate to take any pills. D. Take eight pills.
3. A. Byplane. B. Bycar. C. Bybus. D. By train.
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Get directions to the bus station.
Get to the grocery store.
Give the man directions to the bus station.
Find out where the stoplight is.
A bus station. C. A super.highway.
An airport. D. A train station.
He publishes books. C. He collects automobiles.
He is an author. D. He works in industry.
The man and woman shopped all over town.
The woman went to many different stores.
The woman bought some.bookcases on sale.
The man sold the woman some expensive bookeases.
She plans to teach. -
She plans to write a book.
She plans to do a great deal of reading.
She plans to stay at home and rest.
By one o’clock. C. By three o’clock.
_ By two o’clock. D. By tweive o'clock.
In a hospital. C. Ina plant store.
In a law office. D. In a gift shop.

PEPOORS

.

10.

FErEPOQARPUATP®

Section B

Directions: In this section, you will hear 3 short passages. At the end
of each passage, you will hear some questions. Both the passage and
the questions will be .spokén only once. After you hear one question,
you must choose the best answer from the four choices marked A, B, C
and D. Then mark the corresponding letter on the Answer Sheet with
a single line through the centre.

Passage 1
~ Questions 11 to 13 are based on the passage you have just heard.
—_2 = : '



They went home.
. they went away from the house.
They went somewhere near the house.
They continued to shout at Mr. Smith.
To reconcile them to each other.
To discern the young men. _ .
To see the fight better and find out what they were fighting
about.
. To drive them away from the corner of his house.
'He gave it to the fighters.
He still wrapped himself in it.
He lost it in the darkness.
He was robbed of his blanket.

cCErpOR>
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: Passage 2

Questions 14 to 16 are based on the passage you have just heard.

14. A. She was quiet and shy.

She was bright and friendly.

She was weak from iliness.

She was uncontrollable.

Care for infants. C. Travelalone.

Express herself. D. Use her physical strength.
As a political leader.
As an example to others.

As a famous scientist.

As an extraordinary doctor.

Passage 3
Questions 17 to 20 are based on the passage you have just heard.
17. A. Computers are very fast.

B. These computers contain all the addresses in the city.

—3-
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Computers can be used by doctors.
. Computers help firemen in many ways.
. Because they live at 350000 différent addresses.
. so doctors can treat injured fire fighters quickly.
. Because they need medical examinations.
. So they can be removed from burning buildings.
. By helping them prepare for possible dangers.
By answering calls. '

By sending information to City Hall.

_by putting out fires.

Kansas City. C. Kandahar.
Maryland. D. New York City.

19.

20.
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Part [1 Reading Comprehension (35 minutes)

Directions: There are 4 reading passages in this part. Each passage is

followed by some questions or unfinished statements. For each of them
there are four choices marked A, B, C and D. You should decide on
the best choice and mark the corresponding letter on.the Answer-Sheet
with u single line through the centre.

Questions 21 to 25 are based on the following passage:

When we speak of the family, we think of a husband and wife,
their children, and occasionally an extra relative. This is called the
"nuclear family,” and its core is the married couple. In compaftison,
the “extended family” is founded, not upon the marital relationship
of two people, but upon the blood relationship of a large number of
relatives. While we use the extended family pattern for farf:i!y reu-
nions and other ceremonial purposes, our important family func-
tions proceed on a nuclear family basis. Our folklore warns against

"in—laws and urges the couple to set up their own household. Our
— 4 —
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laws require a husband to maintain his wife in a home apart from
other relatives if she insists. and she sometimes does. Qur laws re-
quire parents to support their own children, but impose only slight
obligation to care for their parents. and no obligation to care for
brothers and sisters, uncles and aunts, or other relatives.

Whereas the nuclear family has a couple at its core, the ex-
tended family has a group of brothers and sisters at its core. One's
principal responsibilities are toward the family into which one was
born, not the family into which one has married. In such a family,
affection and responsibility are widely shared among a large group
of people. Children are the joint responsibility of the entire family,
and a child develops a relationship with his aunts very like that with
his mother. He is surrounded by many adults, any of whom may act
as parents toward him when necessary. The family tends to turn
out personalities with less individuality than ours, since each child
has more nearly the same socialization experience. Such a family .
protects the individual against misfortune and loneliness, but offers
little opportunity for individuality.

21. The most suitable title of the passage would be:

A. Characteristics of the Two Different Kinds of Families

B. The Extended Family will be Replaced by the Nuclear Fami-

ly . '

C. The Nuclear Family Is No Bettr Than the Extended Family

D. How the Two Kinds of Families Came Into Being?

22. Which of the following is true of the first paragraph?
A. Ina nuclear family old people are not cared for at all
B. ' A nuclear family has no functions except supportiﬁg the
“children. ’ '
C.- A nuclear family can consist of only a husband and a wife.
D. A nuclear family cannot be founded if the wife does not in-

—_— —



sist that she be maintained by the husband in a home apart
frony other relatives.
23. It can be inferred from the passagethat ____ .
' A. both children and old people are better cared for in an ex-
tended family than in a nuclear family
B. members in an extended family have a greater sense of re-
sponsibility for the family than those in a nuclear family do
C. uncles and aunts have as much affection for children in an
extended family as parents do in a nuclear family
D. it seems easier for children growing up in an extended family
to develop a social nature
24, In this passage, we can infer that the law in the author’s country

favors __ _
A. an extended family C. apoor family
B. arich family D. anuclear family

25. In a country with an agricu]tural economy, it would be more
practical to belong to .
A. a nuclear family C. arich family
B. anextended tfamily D. 'apoo;'family

Questions 26 to 30 are based on the folowing passage:

Social life everywhere is full of problems—how to wrest a living
from nature. how to divide up the fruits of toil or good fortune, how
to relate ourselves agreeably to one another, and many others. Man
seems to have tried every possible way of dealing with such
problems. Different societies have foynd a wide variety of workable
patterns. A group may eat once, twice or several times each day; they
may eat while standing, seated in chairs, or squatting on the ground;
they may eat together, or each may eat in priv'acy; they may eat with
their fingers or use some kind of utensils; they may start with wine
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and end with fish, start with fish and end with wine, or they may re-
ject both fish and wine as inedible. And so it goes for thousands of
items of behavior. Each trait is a selection from a number of possibil-
ities, all of which are more or less workable. Through trial and error,
sheer accident, or some unknown influence a group arrives at one of
these possibilities, repeats it, and accepts it as the normal way of
meeting a particular need. It is passed on to succeeding generations
and becomes one of the ways of the folk— hence, a folkway.
Folkways are simply the customary, normal, habitual ways a group.
does things. Shaking hands, eating with knives and forks, wearing
neckties on some occasions and sport shirts on others, driving on the
right—hand side of the street, and eating toast for breakfast are a few
of our many American folkways.

New generations absorb the folkways., partly by deliberate
teaching, but mainly by observing and taking part in the life about
them. The child is surrounded by folkways. Since he constantly sees
these ways of doing things, they become to him the only real ways. If
he chances to hear of the customs of other groups, they appear as
quaint oddities and not as practical, realistic ways of getting things
done. Even the most primitive society will have a few thousand
folkways; in modern, industrialized societies they become even more
numerous and involved. Sorting out the proper folkway becomes so
difficult that Emily Post was able to earn a sizeable fortune as an in-
terpreter of our folkways, ¢ven though her fat volume does not cata-
log those followed by all Americans, but lists only some of the
nonoccupational folkways of the urban upper class.

26. Groups do NOT adopt folkways by _
A. trial and error * C. unknown influence
B. "accident D. political election
27. The most suitable title of the passage would be;



American Folkways
. Folkways
How Folkways are Formed
Different Societies have Different Folkways
28. Thc author describes Emily Post to claim that
A. Folkways are too numerous and involved to sort out
Emily became wealthy by studying folkways
C. Emily succeeded in interpreting our folkways
D. Emily wrote a book which does not cover all the f olkways
followed by all Americans
29. Which of the following is NOT true?
A. Each folkway is a selection from several possibilities, all of
which are more or less workable.
B. A folkway is the customary way a group does things.
" C. Folkways in both primitive and industrialized societies
number in the thousands,

0D aOw >

D. Wearing cyeglasses on formal occasions is an American
folkway.
30. The word “deliberate” in the first sentence of the second para-
graph means:
A. slow B. careful C. intentional D. continual

Questions 31 to 35 are based on the following passage:

Some theorists view children as passive receivers of experience:
others consider them active in organizing, structuring, and in some
sense creating their worlds. A scientist who considers children to be
passive does not think they are unresponsive, just that they enter the
world ready to absorb whatever knowledge is provided by the envi-
ronment. According to this view, children are molded by stimuii in
the external environment and driven by internal needs over which



they have little control. Theorists and educaters who view the child
as essentially passive often favor direct and carefully structured
teaching methods. For example, some methods for teaching children
to play the piano contain a series of specific steps, chords, and tunes
to be learned in a prescribed order. The child must master each step
before proceeding to the next one.

In contrast, an educator who believes that ch:ldren are active
assumes that they learn best when they explore and select their own
learning materials and tasks. When teaching a child to play the pia-
no, such an instructor might encourage the child to make up tunes or
to select among different exercises. Human beings are assumed to
have an inborn tendency to be curious, to explore their environment,
and to organize the resulting experience in their own mental frame-
works. Efforts to program !eam.ihg too closely are likely to fail be-
cause they may not correspond to the child’s interests. Instead, a rel-
atively unstructured situation that offers opportunities for varied
stimulation and exploration is optimal, What the child does and
learns, then, depends mainly on interests that come from WIthln and
on his or her level of understanding.

31. What is the main purpose of the passage?
A. To outline two contrasting types of lcarning patterns.
+ B. Toexplain some methods for teaching children.

C. To argue for the superiority of one learning pattern by

means of contrast. :

D. To illustrate the best way to teach a child to play the p:ano
32. The main idea of the first paragraph is:

A. Children learn passively by absorbing the environment.

B. Children are molded by stimuli in the external environment.

C. Direct and carefully structured teaching methods are the

best teaching methods.
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D. A child can only learn step by step what he is taught.
33. The main idea of the second paragraph is: o
A. Human beings have an inborn tendency to be curious.
B. Efforts to program learning too closely are likely to fail.
C. Children learn best when they explore and select their own
learning matertals and tasks. ’
D. What the child does and learns depends mainly on interests.
34. The word “optimal” near the end of the passage means: '
A. hopeful B. best C. successful D. useful
35. The example of playing the piano illustrates a leamin'g pattern
that 1s:
A. always passive and active
B. passive, but not active
C. active, but not passive
D. either passive or active

Questions 36 to 40 are based on the following passage:
The discovery that the universe is expanding was one of the
great intellectual revolutions of the twentieth century. With hind-
" sight. it is easy to wonder why no one had thought of it before.
Newton, and others, should have realized that a static universe
would soon start to contract under ‘the influence of gravity. But sup-
pose instead the universe expanding. If it was expanding fairly
slowly, the force of gravity would cause it eventually to stop ex-
panding and then to'start contracting. However, if it was expanding
at more than a certain critical rate, gravity would never be strong
enough to stop it, and the universe would continue to expand
forever. This is a bit like what happens when one fires a rocket up-
ward from the surface of the earth. If it has a fairly low speed, gravi-
ty will eventually stop the rocket and it will start falling back. On the

— 10—



other hand, if the rocket has more than a certain critical speed
(about seven miles per second) gravity will not be strong enough to
pull it back, so it will keep going away from the earth forever. This
behavior of the universe could have been predicted from Newton's
theory of gravity at any time in the nineteenth, the eighteenth, or
even the late seventeenth centuries. Yet so strong was the belief in a
static universe that it persisted into the early twentieth century. Even
Einstein, when he formulated the general theory of relativity in 1915,
was so sure that the universc had to be static that he modified his
theory to make this possible, introducing a so—called cosmological
constant into his equations. Einstein introduced a new “antigravity”
force, which, unlike other forces, did not come from any particular
scurce, but was built into the very fabi’ic of space—time. He claimed
that space—time had an inbuilt tendency to expand, and this could be
made to balance exactly the attraction of all the matter in the uni-
verse, so that a static universe would resulL.
36. A static universe means that gravity is: '

A. expanding C. not an influence

B. contracting D. a certain critical speed
37. To escape gravity, a rocket must have a critical speed of;

A. more than seven miles per second

B. less than seven miles per second -

C. exactly seven miles per second

D. plus seven miies per second
38. The most suitable title of the passage would be:

A. The Universe Is Expanding Instead of Being Static

B.. How Einstein Made the Discovery that the Universe Is Ex-

panding o
C. The Discovery that the Universe is Expanding Is Based on
the Theory of Gravity '

—11—



- D. Why Einstein Once Believed that Universe was Static.
39. Which of the following is true according to the passage?

A. The universe is forever expanding slowly .

B. The universe would be static but for the attraction of all the
matter.

C. The universe in not only expanding but also contracting.

D. The fact that the universe is expanding could have been
proved by either the lheory of gravity or the theory of
relativity _

40. The word “it” in line 10 refers to: y

A. universe B expanding C. contracting D. rate

Partll  Vocabulary and Struciure (20 minutes)

Directions: There are 30 incomplete sentences in this part. For each
sentence there are four choices marked A, B, C and D. Choose the
ONE that best completes the sentence. Then mark the correspanding
letter on the Answer Sheet with a single line through the centre.

41. Careless motorists are __ to meet with accidents.

A. apt B. liable - C. inclined D. subject
42. The commlttee _ men of widely different views.
' A, composes B. campnseﬂ C. constitutes D. contains
' 43. Different people have different ____ of what he means.

A. notions B. vicws C. conceptions D. positions
44. She was angryatbeing admittance.

A. denied  B. refused C. rejected D. declined
45. Abbey was now perhaps the third most . physician in

Europe.

A. famous B. prominent C. outstanding D. distinguished
46. Sheisvery ___ about what he wears. '



